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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00/ 000 ~ 5380 7255 #h st |0.00 ~ 5.80] 1.65 8.33 ZThLLSE 1.00] 500 ~ 6.65 7255 #hbist | 500 ~ 6.65 1.65 8.33
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00[0.00 ~ 745 9519] ZhbList | 000 ~ 7.45] 2.00 10.09 Zh LS 1.00] 5.00 ~ 10.50 95.19] Zhuis | 500 ~ 10.50| 2.00 10.09
3 100kN/mM##8Z % -l -~ = -|3mEB2Z| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 6.46 81.32| #hLlst | 000 ~ 6.46] 1.57 7.91 Zh LS 1.00] 500 ~ 858 81.32] #hbklst | 500 ~ 858 1.57 7.91
4 100kN/mM#%# 8% % -l -~ = -|3mEB2Z| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 7.73 99.27| #hLlst | 000 ~ 7.73| 2.07 10.48 Zh LS 1.00| 5.00 ~ 10.70 99.27| #hklst | 500 ~ 10.70| 2.07 10.48
5 100kN/mM#%# 8% % 1.00/0.00 ~ 021 103.07|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.69 ~ 1359 103.07|3m%#BZ% = ~ = = =
Zh st 1.00[ 021 ~ 799 100.00] Zh st | 000 ~ 7.99| 1.93 9.76 Zh LS 1.00] 500 ~ 12.69 100.00| Zh it | 500 ~ 13.59| 1.93 9.76
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Zh st ~ Zh st ~ Zh st ~ Zh st ~
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Zh st ~ Zh st ~ Zh st ~ ZhLst ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
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Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
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